(Type the answer in the box given )

Natural Selection

“A mechanism of evolution in which members of population that have certain
traits become adapted to and those traits are on to
the next generation”

Choose the correct description about Natural Selection

Members of a population that are most successfully adapted to the environment

are more likely to be eliminate

Acts on genotypes instead of phenotypes

Preserves individuals with favourable phenotypes & eliminates the
unfavourables.

Increase the allele frequency in the population.




